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l. (@) What is cost accounting? Briefly
discuss the objectives and the
advantages of cost accounting. 2+{(4+3)=9

Or

fb) V. K. Ltd. a manufacturing company
incurred the following expenses during
a certain period. You are required
to prepare a statement showing the

distribution of total cost : 9
z
Materials used on jobs 1,20,540
Wages traceable to jobs 36,650
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( 2)

T
Wages paid to men on

maintenance work 12,600
Salesmen’s Salaries 15,100
Director’s Fees 10,000
Carriage Inwards on Materials R60
Carriage Outwards 2,800
Factory and Eates 8,300
Works Salanes 20,400
Hire of Crane for job 1,300
Censumable Stores 3AL
Depreciation or Plant 3.800
Depreciation on Dehvery Van 1.600
Insurance of Fimshed Goods 2.500
Lubricating (3l 25U
Bad Debry 030
Commission to Salesman 2850
Cost of die time of faciory S
Auditor’s Fres 3,800
Laghting «f Showroom 1.50¢
Oiffwee s v sral Lapenses 7.000

2. fqj What do vou mean by labour turnover?
What are the causes amnl effects of
labour turnover? 34 {3+l

Or

(b} Prepare a Stores Ledger with the heip
ot LIFO method of pricing the issue of

stores using the following irformation 9
£ 023 Lruts
anr ) Balance in hand . @ 1-10 per unit 100
2 Rewewed @ € 120 per unit 200
10 Issued 150
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{3 )
2003 Units ‘
Jdan. 19 Received @ ¥ 1-30 rer unit 100
» LR jssued 130
© 23 Returned from !0th January issue B e
" 24 Received @ €120 per unit 100 :
» 30 Wastage 10 led in by the
7 31 Tssued 110 ididate
3. fa ﬁ{hat doA you rmea_n by | absorpucin “om / BBA / BCA |
ot overheads? Describe the various :
methods  of  absorption  of factory r End Term':
overheads. 3+6=9 2023
Or
thi A factory  has  two producticn
departments A and B and service T
Cepartment S. The information rejated
.70} them Basymder e, |
Production Service
Departments Department
P 5 S e,
Direct Waprs fin 7y 2,000 3,000 1,000
Direct Mironals fin & 1,00G 2,000 L300 e L
Nooof Workers 100 150 50
Yower (kKW by 1C00 2000 1000
Now of Biine 10 16 &
Value of ‘Asaers fin 7 650.000 40,000 0000
Area of Buddimg (sq mt) 150 250 SU e
fhe expenses for three months ending
bist Decemnber, 2022 were as under -
?
Motive Power 2,200
Lighting 400 e
Store QOverheads 1.600
Amenities of Employees 2,600
ure of
tor(s)
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(4 )

?
Depreciation 15,600
Repair 6,000
General Overheads 12,000
Rent and Taxes 1,100

Apportioning the expenses of service
department § in the ratio of 5:2 to
production departments.

Calculate total overheads of production
departments A and B. 9

4. ia) What is contract costing? Distinguish
between .Job Costing and Contract
Costing. 2+7=9

Cr

b} The following information is extracted
from the Job Ledger in respect of
JOL ive o
Materiais-—~& 3 400
Wages

Dept.—A  8G hours at #2 per hour

Dept.——~B 60 hours at 4 per hour
Variable Overheads

Dept 4 ¥ 5.000 for 400G direct hours

Dept--B & 6.000 fir 3000 direct hours
Fixed Overheads :

F7.500 for 10000 hours of norm:.l

working tume of the factory

Calculate the cost of Job No. 606 and
estimate the percentage of profit, if the
price gunted 1s & 4,750). 9
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$. f{a) What is process costing? Briefly explain =~ e
the features of process costing.
2+7=9

Or

(bl A company manufacturing a chemi al
product by a series of operations in
fhree processes. Raw material is fed
it Process—I!  and  the finished :
“nemical that comes out of Process—!I ‘Com / BBA / BCa !
o transferred to finished goods store. :

lled in by the
wndidate

o . : ter ;
e following  particulars  relating  to End  Term H
erations for April 2013 are given 2023 :
bejow
Proces s—i Process-4] Process—ili
Raw Mateniois Ceereiianaa., ..
1ssued B0 ke in #) 9,600,000 - -
Otrect Wages 0 #) 1.25,600 1,72,000 1,42,500
Overthead Cosis o ) 1.68,000 177,280 2469 e e TS
Normanl Processing Loss
B af it 2 2% e
Oubput Trancieroed ro
next procs ss fin kg) 730G 69400 6900
Werk i Prossess o b 3000 2400 - e s,
Frocessed materials awaiting transfer
neXt process)
repare the accounts of Processes--1, II :
tvid Il and also abnormal loss and = cereeee R L i
bnormal gain, if any. 9 :
* ok *
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( Marks = 25)

The figures in the margin indicate full marks for the questions

1. State whether the following statements are True (T)
or False (F) but putting a Tick (v)) mark : 1x5=5

(a) ‘ihe nasic objective of cost accounting is cost
ascertainment.

(T / F)

(b) Normal loss of material can be completely
avoided.

(T / F)

(c) The apportionment of production overhead costs
are in two stages.

(T / F)
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(2)

(d) Contract Account is a Nominal Account.

(T / F)

(e) In process costing, each process is treated as a
separate cost unit.

(T / F)

2. Put a Tick (v) mark against the correct answer in the
brackets provided : 1x10=10

(a) Cost classification can be done in
(i) one way [ ]
(i) two ways [ ]

(iti) three ways [

[—

(iv) several ways [ ]

(b) The total of all direct cost is termed as
(i) prime cost [ ]
(i) works cost [ ]
(iti) cost of sales [ ]

(iv) cost of product | ]

CA/BC-304/79



( 3)

(c) Which of the following is not direct labour?

(i) Assembly line workers [ ]
(i) Machine operators [ ]
(ii) Manual werkers [ ]
(iv) Timekeeper [ ]

(d) Telephone expense is a
(i) variable cost : ]
(i) semi-variable cost [ ]
(iii) fixed cost [ ]

(iv) All of the above [ ]

(e) wciio o building is
(i) fixed overhead [ ]
(i) indirect overhead [ ]
(iii) direct overhead i ]

(iv) All of the above | ]

(/) Absorption is also called

(i) allocation [ ]

(i) sharing [ |
(iii) overhead recovery [ |
(iv) None of the above [ ]
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(4)

{g) Actual costs are
(i) the cost incurred [ ]
(i) budgeted costs [ ]
(iii) estimated costs [ |

(iv) competitors costs [ ]

(h) A contract is generally of duration.
il long [ |
fii) short [ ]
(i) average |

fiv) very short | ]

(i) First step in process costing system is to

fij compute cost for cach unit [

fiij summarize total costs l ]
(ii) compute output in units [ ]
(iv) summarize flow of output [ ]

() Ina processcosting system, loss might be

(i) normal l ]

(ii) abnormal [ ]
(i) both normal and abnormal [
(iv) None of the above [ ]

CA/BC-304/79



(S)
3. Write short notes on the following : 2x5=10

(a) Scope of cost accounting
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(6)

(b) Economic order quantity

‘A, BC-304/79



(7)

(c) Apportionment of overheads

CA/BC~304/79



(d) Job costing

'A;/BC-304/79

( 8)



(9)

(e) Inter-process profit

% o %
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